



TOPIC: 10 - COMPLEX FORM

Formula: Complex form
$$(\overline{\Pi}, \overline{\Pi})$$

$$f(x) = \frac{J}{n-\infty} \quad c_n \in \text{in} x$$
where $c_n = \frac{1}{b-a} \int_{a}^{b} f(x) e^{-inx} dx$.

Formula: complex form $(-l, l)$

$$f(x) = \frac{J}{n-\infty} \quad c_n e^{-in\overline{\Pi}x}$$
where $c_n = \frac{1}{b-a} \int_{a}^{b} f(x) e^{-in\overline{\Pi}x} dx$.

To find the complex form $f(x) = e^{ax} - \overline{\Pi} e^{-inx}$
in the form $e^{ax} = \frac{e^{inh}ax}{T} \int_{n-\infty}^{\infty} \frac{c_{-1}}{a^2+n^2}$
whence prove that $\frac{T}{a\sin ha\pi} = \frac{S}{n-\infty} \frac{c_{-1}}{a^2+n^2}$

Sol:
$$f(x) = \int_{n-\infty}^{\infty} c_n e^{-inx} dx$$

$$c_n = \int_{b-a}^{b} \int_{a}^{c_n} f(x) e^{-inx} dx$$

$$= \int_{a}^{T} \int_{a}^{c_n} e^{-inx} dx$$

$$= \int_{a}^{T} \int_{a}^{c_n} e^{-inx} dx$$

$$= \int_{a}^{T} \int_{a}^{c_n} e^{-inx} dx$$





$$C_{n} = \frac{1}{2\pi} \left[\begin{array}{c} e^{\Delta - in} \right]^{\frac{1}{n}} - \frac{(\alpha - in)\pi}{\alpha - in} \\ = \frac{1}{2\pi(\alpha - in)} \left[\begin{array}{c} e^{\pi \pi} - in\pi \\ e^{\pi} - e^{\pi} \end{array} \right]^{\frac{1}{n}} = \frac{1}{2\pi(\alpha - in)} \left[\begin{array}{c} e^{\pi \pi} - in\pi \\ e^{\pi} - e^{\pi} \end{array} \right]^{\frac{1}{n}} = \frac{1}{2\pi(\alpha - in)} \left[\begin{array}{c} e^{\pi \pi} - in\pi \\ e^{\pi} - e^{\pi} \end{array} \right]^{\frac{1}{n}} = \frac{1}{2\pi(\alpha - in)} \left[\begin{array}{c} e^{\pi \pi} - in\pi \\ e^{\pi} - e^{\pi} \end{array} \right]^{\frac{1}{n}} = \frac{1}{2\pi(\alpha - in)} \left[\begin{array}{c} e^{\pi \pi} - in\pi \\ e^{\pi} - e^{\pi} \end{array} \right]^{\frac{1}{n}} = \frac{1}{2\pi(\alpha - in)} \left[\begin{array}{c} e^{\pi \pi} - in\pi \\ e^{\pi} - e^{\pi} \end{array} \right]^{\frac{1}{n}} = \frac{1}{2\pi(\alpha - in)} \left[\begin{array}{c} e^{\pi \pi} - in\pi \\ e^{\pi} - e^{\pi} \end{array} \right]^{\frac{1}{n}} = \frac{1}{2\pi(\alpha - in)} \left[\begin{array}{c} e^{\pi \pi} - in\pi \\ e^{\pi} - e^{\pi} \end{array} \right]^{\frac{1}{n}} = \frac{1}{2\pi(\alpha - in)} \left[\begin{array}{c} e^{\pi \pi} - in\pi \\ e^{\pi} - e^{\pi} \end{array} \right]^{\frac{1}{n}} = \frac{1}{2\pi(\alpha - in)} \left[\begin{array}{c} e^{\pi \pi} - in\pi \\ e^{\pi} - e^{\pi} \end{array} \right]^{\frac{1}{n}} = \frac{1}{2\pi(\alpha - in)} \left[\begin{array}{c} e^{\pi} - in\pi \\ e^{\pi} - e^{\pi} \end{array} \right]^{\frac{1}{n}} = \frac{1}{2\pi(\alpha - in)} \left[\begin{array}{c} e^{\pi} - in\pi \\ e^{\pi} - e^{\pi} \end{array} \right]^{\frac{1}{n}} = \frac{1}{2\pi(\alpha - in)} \left[\begin{array}{c} e^{\pi} - in\pi \\ e^{\pi} - e^{\pi} \end{array} \right]^{\frac{1}{n}} = \frac{1}{2\pi(\alpha - in)} \left[\begin{array}{c} e^{\pi} - in\pi \\ e^{\pi} - e^{\pi} \end{array} \right]^{\frac{1}{n}} = \frac{1}{2\pi(\alpha - in)} \left[\begin{array}{c} e^{\pi} - in\pi \\ e^{\pi} - e^{\pi} \end{array} \right]^{\frac{1}{n}} = \frac{1}{2\pi(\alpha - in)} \left[\begin{array}{c} e^{\pi} - in\pi \\ e^{\pi} - e^{\pi} \end{array} \right]^{\frac{1}{n}} = \frac{1}{2\pi(\alpha - in)} \left[\begin{array}{c} e^{\pi} - in\pi \\ e^{\pi} - e^{\pi} \end{array} \right]^{\frac{1}{n}} = \frac{1}{2\pi(\alpha - in)} \left[\begin{array}{c} e^{\pi} - in\pi \\ e^{\pi} - e^{\pi} \end{array} \right]^{\frac{1}{n}} = \frac{1}{2\pi(\alpha - in)} \left[\begin{array}{c} e^{\pi} - in\pi \\ e^{\pi} - e^{\pi} \end{array} \right]^{\frac{1}{n}} = \frac{1}{2\pi(\alpha - in)} \left[\begin{array}{c} e^{\pi} - in\pi \\ e^{\pi} - e^{\pi} \end{array} \right]^{\frac{1}{n}} = \frac{1}{2\pi(\alpha - in)} \left[\begin{array}{c} e^{\pi} - in\pi \\ e^{\pi} - e^{\pi} \end{array} \right]^{\frac{1}{n}} = \frac{1}{2\pi(\alpha - in)} \left[\begin{array}{c} e^{\pi} - in\pi \\ e^{\pi} - e^{\pi} \end{array} \right]^{\frac{1}{n}} = \frac{1}{2\pi(\alpha - in)} \left[\begin{array}{c} e^{\pi} - in\pi \\ e^{\pi} - e^{\pi} \end{array} \right]^{\frac{1}{n}} = \frac{1}{2\pi(\alpha - in)} \left[\begin{array}{c} e^{\pi} - in\pi \\ e^{\pi} - e^{\pi} \end{array} \right]^{\frac{1}{n}} = \frac{1}{2\pi(\alpha - in)} \left[\begin{array}{c} e^{\pi} - in\pi \\ e^{\pi} - e^{\pi} - in\pi \end{array} \right]^{\frac{1}{n}} = \frac{1}{2\pi(\alpha - in)} \left[\begin{array}{c} e^{\pi} - in\pi \\ e^{\pi} - in\pi \end{array} \right]^{\frac{1}{n}} = \frac{1}{2\pi(\alpha - in)} \left[\begin{array}{c} e^{\pi} - in\pi \\ e^{\pi} - in\pi \end{array} \right]^{\frac{1}{n}} = \frac{1}{2\pi(\alpha - in)} \left[\begin{array}{c} e^{\pi} - in\pi \\ e^{\pi} - in\pi \end{array} \right]^$$





Equating the real parts, we get

$$\frac{\pi}{\sin h a \pi} = \sum_{n=-\infty}^{\infty} \frac{c^{-1}y^n}{a^2 + n^2}$$

$$\frac{\pi}{a \sinh h a \pi} = \sum_{n=-\infty}^{\infty} \frac{c^{-1}y^n}{a^2 + n^2}$$
2.
$$f(x) = e^{ax} \quad \text{in } (-l, l)$$

$$\frac{d}{dx} = \frac{1}{2l} \int_{-l}^{l} f(x) e^{-\frac{l}{l} n \pi} dx$$

$$= \frac{1}{2l} \int_{-l}^{l} e^{-\frac{l}{l} n \pi} dx$$





$$C_{n} = \frac{1}{2l(\alpha l - in\pi)} \begin{bmatrix} al \cdot (-1)^{n} - al \cdot (-1)^{n} \end{bmatrix}$$

$$= \frac{c - 10^{n}}{2l(\alpha l - in\pi)} \begin{bmatrix} al - al \end{bmatrix}$$

$$= \frac{(-1)^{n}}{2l(\alpha l - in\pi)} \begin{bmatrix} al - al \end{bmatrix}$$

$$\therefore f(x) = \sum_{n=-\infty}^{\infty} \frac{(-1)^{n}}{(\alpha l - in\pi)} \begin{bmatrix} ann x \\ al - in\pi \end{bmatrix}$$

$$\therefore f(x) = \sum_{n=-\infty}^{\infty} \frac{(-1)^{n}}{(\alpha l - in\pi)} \begin{bmatrix} ann x \\ al - in\pi \end{bmatrix}$$

$$\exists find the complex form of the fourier series$$

$$ext{ef} f(x) = e^{2} in - 1 \times 2l$$

$$\exists f(x) = \sum_{n=-\infty}^{\infty} cn e^{in\pi x} 2l = 1$$

$$cn = \iint_{b-a} \int_{a}^{b} f(x) e^{-in\pi x} dx$$

$$cn = \frac{1}{2} \int_{a}^{b} e^{x} \cdot e^{-in\pi x} dx$$

$$= \frac{1}{2} \int_{a}^{b} e^{x} \cdot e^{-in\pi x} dx$$

$$= \frac{1}{2} \int_{a}^{b} e^{-(1+in\pi)x} dx$$





$$C_{n} = \frac{1}{2C_{1}+in\pi} \left[e^{\left(1+in\pi\right)} - e^{\left(1+in\pi\right)} \right]$$

$$= \frac{1}{2\left(1+in\pi\right)} \left[e^{\left(\cos n\pi\right) + i\sin n\pi\right)} - e^{\left(1+in\pi\right)} \right]$$

$$= \frac{1}{2\left(1+in\pi\right)} \left[e^{-in\pi} - i\sin n\pi\right]$$

$$= \frac{1}{2\left(1+in\pi\right)} \left[e^{-in\pi} - e^{in\pi} - i\sin n\pi\right]$$

$$= \frac{1}{2\left(1+in\pi\right)} \left[e^{-in\pi} - e^{in\pi} - i\sin n\pi\right]$$

$$= \frac{1}{2\left(1+in\pi\right)} \left[e^{-in\pi} - e^{in\pi} - i\sin n\pi\right]$$

$$= \frac{1}{2\left(1+in\pi\right)} \left[e^{-in\pi} - e^{in\pi} - i\sin n\pi\right]$$

$$= \frac{1}{2\left(1+in\pi\right)} \left[e^{-in\pi} - e^{in\pi} - i\sin n\pi\right]$$

$$= \frac{1}{2\left(1+in\pi\right)} \left[e^{-in\pi} - e^{in\pi} - i\sin n\pi\right]$$

$$= \frac{1}{2\left(1+in\pi\right)} \left[e^{-in\pi} - e^{in\pi} - i\sin n\pi\right]$$

$$= \frac{1}{2\left(1+in\pi\right)} \left[e^{-in\pi} - e^{-in\pi} - i\sin n\pi\right]$$

$$= \frac{1}{2\left(1+in\pi\right)} \left[e^{-in\pi} - e^{-in\pi} - i\sin n\pi\right]$$

$$= \frac{1}{2\left(1+in\pi\right)} \left[e^{-in\pi} - e^{-in\pi} - i\sin n\pi\right]$$

$$= \frac{1}{2\left(1+in\pi\right)} \left[e^{-in\pi} - e^{-in\pi} - i\sin n\pi\right]$$

$$= \frac{1}{2\left(1+in\pi\right)} \left[e^{-in\pi} - e^{-in\pi} - i\sin n\pi\right]$$

$$= \frac{1}{2\left(1+in\pi\right)} \left[e^{-in\pi} - e^{-in\pi} - i\sin n\pi\right]$$

$$= \frac{1}{2\left(1+in\pi\right)} \left[e^{-in\pi} - e^{-in\pi} - i\sin n\pi\right]$$

$$= \frac{1}{2\left(1+in\pi\right)} \left[e^{-in\pi} - e^{-in\pi} - i\sin n\pi\right]$$

$$= \frac{1}{2\left(1+in\pi\right)} \left[e^{-in\pi} - e^{-in\pi} - i\sin n\pi\right]$$

$$= \frac{1}{2\left(1+in\pi\right)} \left[e^{-in\pi} - e^{-in\pi} - i\sin n\pi\right]$$

$$= \frac{1}{2\left(1+in\pi\right)} \left[e^{-in\pi} - e^{-in\pi} - i\sin n\pi\right]$$

$$= \frac{1}{2\left(1+in\pi\right)} \left[e^{-in\pi} - e^{-in\pi} - i\sin n\pi\right]$$

$$= \frac{1}{2\left(1+in\pi\right)} \left[e^{-in\pi} - e^{-in\pi} - i\sin n\pi\right]$$

$$= \frac{1}{2\left(1+in\pi\right)} \left[e^{-in\pi} - e^{-in\pi} - i\sin n\pi\right]$$

$$= \frac{1}{2\left(1+in\pi\right)} \left[e^{-in\pi} - e^{-in\pi} - i\sin n\pi\right]$$

$$= \frac{1}{2\left(1+in\pi\right)} \left[e^{-in\pi} - e^{-in\pi} - i\sin n\pi\right]$$

$$= \frac{1}{2\left(1+in\pi\right)} \left[e^{-in\pi} - e^{-in\pi} - i\sin n\pi\right]$$

$$= \frac{1}{2\left(1+in\pi\right)} \left[e^{-in\pi} - e^{-in\pi} - i\sin n\pi\right]$$

$$= \frac{1}{2\left(1+in\pi\right)} \left[e^{-in\pi} - e^{-in\pi} - i\sin n\pi\right]$$

$$= \frac{1}{2\left(1+in\pi\right)} \left[e^{-in\pi} - e^{-in\pi} - i\sin n\pi\right]$$

$$= \frac{1}{2\left(1+in\pi\right)} \left[e^{-in\pi} - e^{-in\pi} - i\sin n\pi\right]$$

$$= \frac{1}{2\left(1+in\pi\right)} \left[e^{-in\pi} - e^{-in\pi} - i\sin n\pi\right]$$

$$= \frac{1}{2\left(1+in\pi\right)} \left[e^{-in\pi} - e^{-in\pi} - i\sin n\pi\right]$$

$$= \frac{1}{2\left(1+in\pi\right)} \left[e^{-in\pi} - e^{-in\pi} - i\sin n\pi\right]$$

$$= \frac{1}{2\left(1+in\pi\right)} \left[e^{-in\pi} - e^{-in\pi} - i\sin n\pi\right]$$

$$= \frac{1}{2\left(1+in\pi\right)} \left[e^{-in\pi} - i\sin n\pi\right]$$

$$= \frac{1}{2\left(1+in\pi\right)} \left[e^{-in\pi} - i\sin n\pi\right]$$

$$= \frac{1}{2\left(1+in\pi\right)} \left[e^{-in\pi} - i\sin n\pi\right]$$

$$= \frac{1}{2\left(1+in\pi\right)} \left[$$